
NRT/KS/19/5508
Bachelor of Commerce (B.Com.) Semester-VI Examination

INDIAN ECONOMY–II
Compulsory Paper—4

Time : Three Hours] [Maximum Marks : 80

N.B. :— (1) All questions are compulsory.
(2) All questions carry equal marks.

1. (A) Explain the role of Agriculture in Indian Economy. 8
(B) Explain the concept of crop insurance with its problems. 8

OR
(C) Explain the concept of Agricultural Marketing with its problems and remedies. 16

2. (A) Explain the role of small scale and cottage industries in Indian Economy. 8
(B) Explain the causes of industrial sickness in India. 8

OR
(C) Explain the strengths and weaknesses of Indian Trade Union Movement. 16

3. (A) Explain the contribution of service sector to India's GDP. 8
(B) Explain the importance of banking sector in Indian Economy. 8

OR
(C) Explain the challenges and opportunities in IT and ITES sector in India. 16

4. (A) Explain the advantages of Foreign trade. 8
(B) Explain the objectives of World Trade Organisation. 8

OR
(C) Explain the role and impact of LPG on Indian Economy. 16

5. Answer in brief :
(A) Explain the problems of Agricultural Labour.
(B) Explain the features of Industrial Policy 1991.
(C) Explain the opportunities of Insurance Sector.
(D) Explain the benefits of Special Economic Zone. 4×4=16
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¼ejkBh ekè;e½
1. (v) Hkkjrh; vFkZO;oLFksr d`"khph Hkwfedk Li"V djk- 8

(c) ^fid foek* gh ladYiuk R;kP;k leL;kalg Li"V djk- 8

fdaok
(d) d`"kh foi.kukph ladYiuk] R;kP;k leL;k o mik;kalg Li"V djk- 16

2. (v) Hkkjrh; vFkZO;oLFksrhy dqVhj o y?kq m|ksxkaph Hkwfedk Li"V djk- 8
(c) Hkkjrkrhy vkS|ksfxd vktkji.kkph dkj.ks Li"V djk- 8

fdaok
(d) Hkkjrkrhy dkexkj la?k pGoGhph cGLFkkus vkf.k dedqorrk Li"V djk- 16

3. (v) HkkjrkP;k ldy Lons'kh mRiknke/;s (GDP) lsok {ks=kps ;ksxnku Li"V djk- 8
(c) Hkkjrh; vFkZO;oLFksrhy vf/kdks"k {ks=kps egRo Li"V djk- 8

fdaok
(d) Hkkjrkr ekfgrh izkS|ksfxd (IT) o ekfgrh izkS|ksfxd l{ke lsokae/khy (ITES) vkOgkus vkf.k la/kh Li"V

djk- 16
4. (v) fons'kh O;kikjkps Qk;ns Li"V djk- 8

(c) tkxfrd O;kikj la?kVus ps mís'; Li"V djk- 8

fdaok
(d) Hkkjrh; vFkZO;oLFksoj mnkjhdj.k] [kktxhdj.k] oSf'odj.kkph (LPG) Hkwfedk o izHkko Li"V djk- 16

5. FkksMD;kr mÙkjs fygk %
(v) d`"kh etwjkaP;k leL;k Li"V djk-
(c) 1991 P;k vkS|ksfxd /kksj.kkph oSf'k"Vîs Li"V djk-
(d) foek {ks=krhy la/kh Li"V djk-
(M) fo'ks"k vkfFkZd {ks=kps Qk;ns Li"V djk- 4×4=16
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¼fgUnh ekè;e½
1. (v) Hkkjrh; vFkZO;oLFkk esa d`f"k dh Hkwfedk dks Li"V dhft,A 8

(c) Qly chek ladYiuk mldh leL;kvksa ds lkFk Li"V dhft,A 8

vFkok
(d) d`f"k foi.ku dh ladYiuk mudh leL;k,a ,oa mik;ksa ds lkFk Li"V dhft,A 16

2. (v) vFkZO;oLFkk esa dqVhj ,oa y?kq m|ksxkas dh Hkwfedk Li"V dhft,A 8
(c) Hkkjr esa vkS|ksfxd fcekjh ds dkj.kksa dks Li"V dhft,A 8

vFkok
(d) Hkkjr esa Jfed la?k vkanksyu ds cyLFkku ,oa detksfj;ka Li"V dhft,A 16

3. (v) Hkkjr esa ldy ?kjsyw mRikn (GDP) esa lsok {ks= ds ;ksxnku dks Li"V dhft,A 8
(c) Hkkjrh; vFkZO;oLFkk esa vf/kdks"k {ks= dk egRo Li"V dhft,A 8

vFkok
(d) Hkkjr esa lwpuk izkS|ksfxdh (IT) ,oa lwpuk izkS|ksfxdh l{ke lsok esa (ITES) vkus okyh pqukSfr;ksa ,oa

voljksa dks Li"V dhft,A 16
4. (v) fons'kh O;kikj ds ykHk Li"V dhft,A 8

(c) oSf'od O;kikj la?k (WTO) ds mís'; Li"V dhft,A 8

vFkok
(d) Hkkjrh; vFkZO;oLFkk ij mnkjhdj.k] futhdj.k vkSj oSf'odj.k (LPG) dh Hkwfedk ,oa izHkkoksa dks Li"V

dhft,A 16
5. la{ksi esa mÙkj fyf[k, %

(v) d`f"k etnwjksa dh leL;k,a Li"V dhft,A
(c) 1991 dh vkS|ksfxd uhfr dh fo'ks"krk,a Li"V dhft,A
(d) chek {ks= ds voljksa dks Li"V dhft,A
(M) fo'ks"k vkfFkZd {ks= ds ykHk Li"V dhft,A 4×4=16
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